
相互インダクタンス𝑀                      𝑣(𝑡) = 𝑣0𝑒𝑖𝜔𝑡 

１次コイルリアクタンス𝐿1 

2次コイルリアクタンス𝐿2                   𝐼1(𝑡)=𝐼1
0𝑒𝑖𝜔𝑡, 𝐼1

0 =

|𝐼1
0|𝑒𝑖𝛿 

𝐼2(𝑡)=𝐼2
0𝑒𝑖𝜔𝑡, 𝐼2

0 = |𝐼2
0|𝑒𝑖𝛿 

 

電圧降下の式は 

{
𝐿1

𝑑𝐼1

𝑑𝑡
+ 𝑀

𝑑𝐼2

𝑑𝑡
= 𝑣0𝑒𝑖𝜔𝑡

𝑀
𝑑𝐼1

𝑑𝑡
+ 𝑅𝐼2 + 𝐿2

𝑑𝐼2

𝑑𝑡
= 0

 

𝑑𝐼1

𝑑𝑡
= 𝐼1

0𝑖𝜔𝑒𝑖𝜔𝑡 

𝑑𝐼2

𝑑𝑡
= 𝐼2

0𝑖𝜔𝑒𝑖𝜔𝑡 

(𝐿1𝐼1
0𝑖𝜔 + 𝑀𝐼2

0𝑖𝜔)𝑒𝑖𝜔𝑡 = 𝑣0𝑒𝑖𝜔𝑡 

{𝑀𝐼1
0𝑖𝜔 + 𝐼2

0(𝑅 + 𝐿2𝑖𝜔)}𝑒𝑖𝜔𝑡 = 0 

𝐼2
0＝

𝑀𝑣0

−𝑅𝐿1 + (𝑀2 − 𝐿1𝐿2)𝑖𝜔
 

A = −𝑅𝐿1 + (𝑀2 − 𝐿1𝐿2)𝑖𝜔 = |𝐴|𝑒𝑖𝛿 

|𝐴| = √(𝑅𝐿1)2+{(𝑀2 − 𝐿1𝐿2)𝜔}2      tan 𝜃 =
𝑅𝐿1

(𝑀2−𝐿1𝐿2)𝜔
,δ = θ +

𝜋

2
 

𝐼1
0 =

𝑣0𝑅 + 𝑣0𝐿2𝜔𝑖

(𝑀2𝜔2 − 𝐿1𝐿2𝜔2) + 𝐿1𝑅𝜔𝑖
=

𝐵

𝐶
 

B = |𝐵|𝑒𝑖𝛿1 , 𝐶 = |𝐶|𝑒𝑖𝛿2 

|𝐵| = √(𝑣0𝑅)2 + (𝑣0𝐿2𝜔)2           tan 𝛿1 =
𝐿2𝜔

𝑅
 



|𝐶| = √(𝑀2𝜔2 − 𝐿1𝐿2𝜔2)2 + (𝐿1𝑅𝜔)2 tan 𝛿2 =
𝐿1𝑅

(𝑀2−𝐿1𝐿2)𝜔
=tan 𝜃 

∴ 𝐼1
0 = 𝑖1

0𝑒(𝛿1−𝛿2) = 𝑖1
0

√(𝑣0𝑅)2 + (𝑣0𝐿2𝜔)2

√(𝑀2𝜔2 − 𝐿1𝐿2𝜔2)2 + (𝐿1𝑅𝜔)2
 

∴ 𝐼2
0 = 𝑖2

0𝑒−𝑖𝛿 = 𝑖2
0𝑒

−𝑖(θ+
𝜋
2

)
 

𝐼1(𝑡)と𝐼2(𝑡)の位相差∆φ = (𝛿1 − 𝛿2) − (−𝛿) 

                     =(𝛿1 − 𝜃) − {− (θ +
𝜋

2
)} = 𝛿1 +

𝜋

2
 

 


